2024.05

B

K0+100. 000
72.500

I e BN

HF=0. 000

T B A58 =2, 50
TS =3, 11
BT THA=0. 56

I TERE=2. 50
S RE=3. 15
PmE=1 17

K0+080. 000
72.370

\J\

H#=0. 090

T B AR B8 =2, 50
T % E=2. 65
T RA=0. 46

Tk A 5 =2, 50
T E=3. 28
F2Hi#=0. 91

K0+060. 000
2. 177

T~/

| ~_ [

) — | TN
F17=0. 063
LRI E=2.50  AERHEETEE=2.50
EWMTERE=2.53  HYHTEE=3. 06
FJrTH#=0. 16 =L 48
K0+040. 000
P1%=0. 063
ERHTE=2.50  HEHAETEE=2.50
EWISE=2.53 A E=2.57
HATA=0. 02 PmA=1. 54
K0+020. 000
[ 172313
M |
H#=0. 053
ERREREE=2.50  HRETERE=2.50
EWEE=2.95  FHGEE=3. 02
HHTAR=0. 27 5 #=1. 08
K0+000. 000
172,430
/\\ﬁ |

T~/

121%=0. 000

T B A58 =2, 50
T Y58 E=2. 50
HUTR=0. 07

Hi BT =2, 50
T =2, 70
Pm=1. 27

KO+172. 688
72. 60

T

I e BN

F51%=0. 000

T B A58 =2 50
FERTEE=3. 11
HTIRL=0. 56

AR 58 =2, 50
A =3, 15
PER=1 17

K0+160. 000
72. 506

T

I e N

HE=0. 000

e B AT =2, 50
ST RE=3. 11
HTIRL=0. 56

FERAETEIE=2. 50
B IE=3. 15
FETmm=1.17

1K0+140. 000
. J

=1 |

?

21=0. 045

T EESEE=2. 50
T 5 =3, 03
FITm=0. 44

AR 58 =2, 50
RS E=3. 07
PHER=1. 33

K0+120. 000
72. 212

S

\4'—|\

=0, 042

e B AR 5L FE=2. 50
EHMSEE=3. 18
HTR=0. 68

A 58 E=2. 50
LR E=3. 22
7 HR=L 03

L HANAR TS mART A

HHEAKE 5 NN AARE TH

FRA Bl

Rt | Fa

ZH | REA

L]

HaF

#

3

(N

A5

53-3-1




